
                                              jmwq A~TvIN                                           
ivSw gixq 

 
ApRYl 
hPqw 1 
6 ApRYl qo 
10 ApRYl 

sMpUrn sMiKAw bwry 
ipClI jwxkwrI Aqy 
joV, Gtwa dy gux 

btnW vwlI ikirAwvW 
nwl joV Aqy Gtwa 

Alg-2 rgW dy 
btn jW kYrm borf 
dIAw gIitAW 

Gro sMpUrn sMiKAW 
dw  joV, Gtwa dy 
svwl 

hPqw 2 
13ApRYl qo 
18 ApRYl 

sMiKAw ryKw qy pirmyX 
sMiKAwvW nUM drswaunw,do 
pirmyX sMiKAwvW 
ivckwr ie~k hor 
pirmyX sMiKAwpqw 
krnw(pUrn sMiKAwvW dI 
qrW)ies qrW v~D qoN 
v~D pRSn dy ky ivckwr 
sMiKAw pqw krnw dw 
AiBAws krvwauxw[ 

grwauNf iv~c sMiKAw 
ryKw bxw ky b~icAW nwl 
Kyf iKfwauxI qy sMiKAw 
ryKw dw igAwn Kyf Kyf 
iv~c dyxw[ 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI dyxw[ 

pirmyX sMiKAwvW 
dI pCwx sbMDI 
AiBAws SIt dyxw[ 

hPqw 3 
20 ApRYl qo 
25 ApRYl 

AMkw nwl Kyfxw:ilK 
Aqy AiBAws rwhIN 
2Aqy 3 AMkw vwlI 
sMiKAwvW nUM 
generalized form iv~c 

kuJ KwlI QW jW 
missing AMkw nUM AMgRyjI 
dy A~KrW rwhIN drsw ky 
joV,Gtwau,Bwg,guxw 
nwl sbMDq pRSn dyxw 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 

Gro sMpUrn sMiKAW 
dw  joV, Gtwa dy 
svwlW dI SIt 
id~qI jw skdI hY[ 



ijvyN 100a+10b+c ie~Qy 
a,b,c AMk hn(0-9) Aqy 
hor pJl,KyfW ies nwl 
sbMDq id~qy jw skdy 
hn[BwgXogqw inXm 
2,3,5,9,10 do AMkW 
vwly Aqy iqMn AMkw vwlI 
sMiKAwvW leI jnrl 
Pwrm iv~c drswauxw[ 

Aqy kuJ buJwrqW,pYtrn 
Awid nwl toipk sbMDI 
jwnkwrI dyxw[ 

jw skdI hY[ 

hPqw 4 
27 ApRYl qo 
2 meI 

vrg Aqy 
vrgmUl:guxnKMf ivDI 
Aqy Bwg ivDI rwhIN 4 
AMkw vwlI Aqy do 
dSmlv sQwn q~k Aqy 
pweIQwgoirAn iqRgut 
,kuJ rock q~qW dI 
jwnkwrI dyxw[ 

vrg dy phwVy qoN jwxUN 
krvwaunw,rock q~qW qy 
AqDwirq ikirAwvW 
krvwauxw 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

kuJ sMiKAwvW dy 
vrg Aqy vrgmUl 
pqw krn leI 
AiBAws SIt dyxw[ 

 

 

 meI  
hPqw 1 
4 meI qo 
8meI 

Gx Aqy 
GxmUl:rwmwnujn-hwrfI 
AMkdw igAwn,kyvl 
guxnKMf ivDI rwhIN v~D 
qoN v~D iqMn AMkw q~k 
Gx Aqy GxmUl dw 

 kuJ rock pYtrn Gx 
sbMDI krvwauxy[ 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 

 kuJ sMiKAwvW dy 
Gx Aqy GxmUl 
pqw krn leI 
AiBAws SIt dyxw[ 

 



igAwn dyxw, GxmUl dw 
Anumwn lgwaunw Aqy 
loVIMdy AMk dy nyVy dw 
igAwn smJwaunw[   

jw skdI hY[ 

hPqw 2 

11 meI qo 
16 meI 

rwSIAW dI 
qulnw:Anupwq Aqy 
pRqISq,ktoqI pqw 
krnw,ivkrI kr,VAT 
bwry jwnkwrI,imSrq 
ivAwj bwry PwrmLy dI 
jwnkwrI[ 

kuJ Poto lwB hwnI 
sbMDI,kuJ bYNkW iv~c lYn 
dyx sbMDI ivifau 
idKwaunw 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

kuJ sMiKAwvW dy 
Anupwq Aqy 
pRqISq,ktoqI pqw 
krnw,ivkrI 
kr,VAT pqw krn 
leI AiBAws SIt 
dyxw[ 

 

hPqw 3 

18 meI 
qo23 meI 

sDwrn Aqy imSrq 
ivAwj iv~c 
AMqr,CymwhI,iqmwhI dI 
jwnkwrI,imSrq ivAwj 
SDwrn ivAwj rwhIN 
iPr is~Dw PwrmUly nwl 
k~fxw isKwauxw[ 

kuJ bYNkW iv~c lYn dyx 
sbMDI ivifau idKwaunw 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

imSrq ivAwj bwry 
PwrmULy dI 
shwieqw nwl 
svwlW dI AiBAws 
SIt dyxw[ 

 



hPqw 4 

25 meI qo 
30meI 

Anupwq smwnupwq dI 
jwnkwrI Aqy pUry pwT 
(rwSIAW dI qulnw) dI 
duhrweI 

  

Anupwq smwnupwq 
svwlW dI AiBAws 
SIt dyxw[ 

 

 

hPqw 1 

1 julweI qo 
4 julweI 

is~Dw Aqy aoultw 
Anupwq:is~Dw Anupwq 
Aqy word problem dI 
jwnkwrI 

is~Dw Anupwq dI cwrt 
rwhIN jwnkwrI 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

is~Dw Anupwq 
svwlW dI AiBAws 
SIt dyxw[ 

 

hPqw 2 

6 julweI qo 
10 julweI aultw Anupwq Aqy 

word problem dI 
jwnkwrI 

aultw Anupwq dI cwrt 
rwhIN jwnkwrI 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

aultw Anupwq 
svwlW dI AiBAws 
SIt dyxw[ 

 



hPqw 3 

13 julweI 
qo 18 
julweI 

smW Aqy kMm sbMDI Aqy 
word problem dI 
jwnkwrI  

dIvwr GVI dI mdd 
nwl smW Aqy kMm sbMDI 
jwnkwrI 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

smW Aqy kMm sbMDI 
svwlW dI AiBAws 
SIt dyxw[ 

 

hPqw 4 

20 julweI 
qo 25 
julweI 

cqrBujwvW nUM 
smJxw:1.bhuBujW dw 
vrgIkrn2.Avql Aqy 
au~ql cqrBuj 

kwgj moVx dI ikirAw 
rwhIN smWqr cqrBuj dy 
guxW nUM drswauxw,8 vwr 
kwgj nUM iksy vI qrW 
moVx Aqy Kolx qy 
Avql Aqy au~ql 
cqrBujW dI jwnkwrI 
dyxw[  

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

svwlW dI AiBAws 
SIt dyxw[ 

 

hPqw 5 

27 julweI 
qo 1 Agsq 

3. cqrBuj dy koxW dy 
gux 

4. cqrBujwvW dIAW 
iksmW 

kwgj moVx Aqy k~tn   
dI ikirAw rwhIN 
cqrBuj dy cwry koxW dw 
joV 360µ huMdw hY bwry 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 

svwlW dI AiBAws 
SIt dyxw[ 

 



d~sxw dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

hPqw 1 

3 Agsq qo 
7 Agsq 

cqrBuj dy koxW bwry 
jwnkwrI(snmuK,lwgvyN)
,cqrBuj(Awieq,vrg,
sm cqrBuj) dy ivkrxW 
sbMDI, 

 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

svwlW dI AiBAws 
SIt dyxw[ 

 

hPqw 2 

10 Agsq 
qo 14 
Agsq 

Tos AwikRqIAwN dw 
icqrn: 1.v~K v~K 
Awkwr 

2.Awpxy Awly duAwly 
nkiSAW dI jwnkwrI 

3.3Dic~qrW dI 
jwnkwrI(Plk,iknwry, 
isKr) 

2D Aqy 3D ic~qrW dI 
jwnkwrI Aqy auhnW dy 
AMgw bwry d~snW,Euler 
formula F+V-E=2 dI 
jwnkwrI 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

svwlW dI AiBAws 
SIt dyxw[ 

 



hPqw 3 

17 Agsq 
qoN 22 
Agsq 

gRwP bwry jwx 
pCwx:1.CV 
ic~qr2.pweI cwrt jW 
gol nkSw  

1.gRwP dI mdd nwl v~K 
v~K CV ic~qr,pweI 
cwrt,smJwaunw 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

svwlW dI AiBAws 
SIt dyxw[ 

 

hPqw 4 

24 Agsq 
qoN 29 
Agsq  

3.ryKI gRwP4.ibMdU nUM 
drswaunw 5. inrdyS 
AMk bwry jwnkwrI 

gRwP dI mdd nwl v~K 
v~K3.ryKI gRwP4.ibMdU nUM 
drswaunw 5. inrdyS 
AMk bwry jwnkwrI 

ieMntrnY~t dI mdd 
nwm XU-itaUb qoN 
toipk sbMDI 
jwnkwrI 
dyxw[ppt.vI idKweI 
jw skdI hY[ 

 

svwlW dI AiBAws 
SIt dyxw[ 

 



                                                


